Step by Step Sanskrit Learning Programme — Level 1, Month 10, Lesson 44- 47B

Lesson 44. Takaaranta words.

Here is a list of A%« words. To help you decline them, Supplement 36 is

up on the site too.
Masculine and feminine words that are declined in the same manner:

H&d wind M, ¥¥d king/ mountain M, ﬁ?lﬁday M , ¥9Tdd The Lord M,
&qHd Hanumaan M, \dd_ You( with respect) M, Hﬁ_v[river F, ?il\Tr'El?[a young
woman F, f%!ga Lightening F.

Neuter words are declined like ST9Td_ world N...... ﬁ'q?[ sky N, J&d big,

There are a few adjectives like

HEd big/great, 0T full of good qualities, ¥«dd rich, @Wintelligent,
‘éﬂ'tl?[intelligent, S51"\'F|T-Lrich/one with prosperity, auspiciousness etc, 3TTHJ
long lived one, and other adjectives like Fad how much, 9d_ this
much,dTdd as much, didd that much.... are declined like ¥Tdd_ if Masculine
, like S9Td_ if N and like T-I'q:] if Feminine. The feminine forms would be q&?‘ﬁ,
The three forms ¥WTdd , S¥Td. and «'-I'qpl are extremely important. You need
to memorize them. Please do make an attempt to do so.

Two words that you will constantly in your conversation are Hdld and GGl
| They mean "you" but are the you forms of respect as in the Hindi "9 " |
Though they mean "you" they are not put into the H<4H J&Y¥ | Instead they
take the ¥¥H J&Y and you will be making sentences like.... HH'IT-LTI%'I%I |
Tl IT=3(d | WaT[ Higs @ied | Wadl 9o e | WaT[ 3NTead, | Wad! Yo |
T st | et w1 HRAfd |

i hope that i have been able to put that idea across clearly. Over to the
exercises.
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Lesson 44 A. Exercises with Takaaranta words.

Translate using Hdd,

Are you a doctor?
What is your name?
All of you, please sit down.
This book is being read by you.
She will not be angry with you.
Does the teacher have faith in you?
| think that he is afraid of you.
Who is Shekhar amongst you?
He will tell you tomorrow.

10 She sees you.
Translate:

1. The rich man is going to the market with the intelligent man.
Ramesh is going to school with the Ones who have good qualities.
The water of the river is clean.

The world is beautiful.

The big building's name is "Laxmi Narayan Sadan."
The great river flows fast.

The clever people's meeting is here in this auditorium.

The big book is on the table. ( Use both T« M and &< N)

| will tell you a great story.
10 The Himalayas are the greatest among the mountains in the world.

[y
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Lesson 44 B- Answers to Lesson 44 A.

Translate using Hdd,
1. Areyou a doctor?
Haﬁaa: 1%1{?
2. What is your name?
ad: = 692
3. All of you, please sit down.
I HIAT ITER |
4. This book is being read by you.
T & Wadl J89d |
5. She will not be angry with you.
1 ¥7ad A A |
6. Does the teacher have faith in you?
ITATIHE [ Hald TR 6 ?
7. lthink that he is afraid of you.
7 Feraie I @: Herd: Yo SRgHid |
8. Who is Shekhar amongst you?
g F: 2T ?
9. He will tell you tomorrow.
9: Vad *: FARSA |
10.She sees you.
|1 W~ 9240 |
Translate:
1. The rich man is going to the market with the intelligent man.

a1, JheHdT E8 3190 IT=afd |

2. Ramesh is going to school with the Ones who have good qualities.
CR: TR T8 oAt s |

3. The water of the river is clean.
ARA: TS T=gH i |

4. The world is beautiful.
ST H3eH e |
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5. The big building's name is "Laxmi Narayan Sadana."
HEd: WaTe AT SEHI-AEuT-HeH |
6. The great river flows fast.
HEdl |id 2 F&fd |
7. The clever people's meeting is here in this auditorium.
FreHal TG 3T TAREA TR ST |
8. The big book is on the table. ( Using both ¥« M and J&I<kH N)
Hed JEHH SUSHMAT: IR /IGHEH TR |
HE T+ SHSHAT: IUR /IHTGHEN AR |
9. Iwill tell you a great story.
I WA HEd HUl HARSA |
10.The Himalayas are the greatest among the mountains in the world.
ST Wiy AT FeTw: |
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Lesson 45. The Study of Active Past Participles.

Over the last few months, our study of nouns and verbs has brought out a
very important point: A root word can only be used in a sentence IF a suffix

has been added. A suffix = 94949

The HH: is one which if added to a YTd changes the 9Td into a noun, an
adjective or an indeclinable.
One of the H44: s is called the Fged 4FH: |

You are already familiar with 2 of the 5 %hged Y9, though they have so far
not been introduced as so. The @«d / @ddwd and JH- avyayas are fad s.

Let's appoint 9& as our guinea pig. Through the use of this dhaatu, let's try

and understand how the participle works. We can then apply it to all the
other dhaatus.

9% has 5. %aed forms.
1. The &= / s+ .. 9f&cdl, @989 | Gerund

2. The gH= .. Gi&gH. Infinitive

3. The Past Participle, both Active and Passive.

4. The Potential Participle.

5. The Present Participle both Active and Passive.
Don't let these terms scare you. We'll concentrate on each one in turn and
get the boogeyman out of them.
You know Points 1 and 2. You also know the active and the passive
sentence constructions ....now let's see how the use of Point 3, helps us
simplify sentence structures in the Past tense. First a quick recall of what
we already know:

9% To read/study

H: 39&d | He read. (Past tense, active)

H: 9I6H AYSd | He read a lesson. (Past tense, active)

ol 9T&: 3M939d | A lesson was read by him. (Past tense, passive)... please

make sure you have understood the formation of passive sentences before
you continue any further.
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In the above three sentences, the dhaatu 9 is in the form of a verb. When
used as a participle, it becomes an adjective and follows the noun in three
areas.. gender I%Tﬁ", number 949 ,and declension fenfs |

9% as a participle, takes the root past participle form: qied | Supplement

37. gives you the root past participle forms of the dhaatu to help you
further form the Active Past Participle AND the Passive Past Participle. You
have already seen how the Gerund and the Infinitive of that root form is

formed.... ‘ﬁ?WT, ‘JW |IThese forms are avyayas. Let's study the past

participle in sections:
The Active Past Participle:

The same root form ‘3"%, is used as the The Active Past Participle AFTER
the 999 "dd " or "ddl" is further added to it. The root form for 9% as the
active past participle becomes qiédead | NOW, it is an adjective. It is

declined in the three genders as a Takaaranta word.

M= 9f&aad declined like YT |
F= 9fddd declined like a1 |
N= 9fddad declined like S¥Td. |

So, instead of saying |: 34&d_, dH 3T4é: , HEH 3TUSH i simply say
g: iddar , o qféadt, 38 iddarif all of us are men. Since @: , & and 3§
are all TIHI-fRIRR , i have to use the same for the ‘T@‘dﬂ?{which iS now an

adjective.
If we are dealing with women, it becomes: |l EIESER]] <] EIEGER]] , TR

qisaadt |

If there are two men involved, the sentences would become: at /EHEW\\[
qfda=t |gat qidaaedt | 3TEt qfsdamt |

If there are two women involved, the sentences would become: E\I/ET'I%‘TQE
qiéaacal 14t fsdacat | et aidaad |

Many men: d/TISHT: Giodaed: |94 Gioaaea: | 99 Gidaaea: |
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Many women: TTic®T: Giédacd: | 94 Giédacd: | a9 qiéaadd: |
Supplement 37. gives you the participle root forms of the dhaatu to help
you form the Active Past Participle.

Let's work on only the 9&HT IR forms this week to help build our

foundation. A few examples are given below:
1. The boy read a book. ST5®: J&de b, |

The girl read a book. SfesT J&eh: GiéaadT |

The teacher (M) taught a lesson. 3THT: I BUESEIGE
The teacher (F) taught a poem. ITATIHT Hidar qiieaaat |
The two men saw a bird. A= @ T8 |

The two women saw a bird. A& &1 8t |

The many boys played with a ball. ST5&T: ahrg:hd hifeda=d: |

8. The many girls prayed to the Lord. Mc5HT: ad Adacd: |

And with that you can, with the help of Supplement 37, try out the
exercises in Lesson 45 A.

N o O ks N
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Lesson 45 A. Exercises with the Active Past Participle.

Nouns/Pronouns Verbs Avyayas Adjectives.

SIS bus-stop N

YHUTYA certificate N

gad4 rainbow N

d<h speaker M

a5 Science N

Translate:
1. The priest worshipped the Lord.
The boy went.
The men stood near the bus-stop.
The women wore sarees.
The volunteers did the work.
The two girls wrote the lessons in their books.
The student obtained the certificate from the president of the work-
place.
8. When the mother called, the boys got up and sat on the bed.
9. The mother told the daughter a story.
10.The father cleaned the floor with a clean cloth.
11.The two boys ate the fruits.
12.The two girls ate the bananas.
13.The cloud thundered in anger during the rainy season.
14.Saarika sang a song for the people.
15.The man sat under a tree and thought.
16.The girl gave a book to the teacher.
17.The people saw the rainbow in the sky.
18.The Rishi meditated on the Lord in the morning.
19. The cook cooked the meal quickly.
20. The students studied before the exam.
21.The speaker spoke about Science.
22. The father placed the books on the table.
23. The people laughed when they heard the speaker's speech.

NoukwnN
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Lesson 45 B. Answers to Lesson 45 A.
1. The priest worshipped the Lord.
gﬁ%a: a9 e, |
2. The boy went.
CIKEIRIGEIGHE!
3. The men stood near the bus-stop.
T SEIEIFR THY Rerqaea: |
4. The women wore sarees.
RS FMEHT: gaacd: |
5. The volunteers did the work.
THHEET: FE Fagd: |
g FE Faaa: |
6. The two girls wrote the lessons in their books.
ik T4T: GEahdl: I foRadadat |
7. The student obtained the certificate from the president of the work-
place.
I FAGTE ST JHUYH_ S{1adT / J1adTd |
8. When the mother called, the boys got up and sat on the bed.
a1 AT A, a1 ASH: Ifeddawd: I IqESa: T |
9. The mother told the daughter a story.
T 353 Fl Hiraad |
10.The father cleaned the floor with a clean cloth.
U de T3 TeIUT eTfsadTe. |
11.The two boys ate the fruits.
T FAT Eiicaded |
12.The two girls ate the bananas.
qTichh HESIRSI @iicaacdt |
13.The cloud thundered in anger during the rainy season.

c =~

Tel: JHIHIS T4 T |
14.Saarika sang a song for the people.

QIRRT ST ITd Iada |
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15.The man sat under a tree and thought.
J&N: JeTe o7 e Midda = |
16.The girl gave a book to the teacher.
3T STATIER Jedsh gadd |
17.The people saw the rainbow in the sky.
TT: TR S5 TR |
18.The Rishi meditated on the Lord in the morning.
FN: IS <d AT |
19. The cook cooked the meal quickly.
T WISt 20TH R |
20. The students studied before the exam.
BT T U, Tiodad: |
ST T ITF Iiéaacd: |
21.The speaker spoke about Science.
a1 [T Shar, |
22. The father placed the books on the table.
T SNESHMET: IUR, Jedehllel T, |
23. The people laughed when they heard the speaker's speech.
T ST: axp: VTN Ydded: dql d afdad: |
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Lesson 46. The Active Past Participle. Part 2.
Read Only Series.

We have worked with the I&HT {4k of the Active Past Participle. Let's see

how else it is used in the other vibhaktis.
Naturally the Past talks about an action that has already been done and is
complete: | saw the boy who went.

How would i translate this? Since the boy is the object here, i use the T
TR, Naturally i must use the object form of the word ¥1ddd_ which is

Tdd+ , so that i may ensure that the adjective matches the noun.

ITEH A JISHH_ ITI=IH |

I T A5k AT |

32 ITda ok el |

How does one translate sentences like: | saw the boy who had been going?
| saw the boy who was going? | saw the boy who had gone?

First of all let's recall the English terms of Grammar.
1. Gone=simple past tense.
2. Has gone / Had gone = perfect past tense.
3. Was going = past continuous tense.
4. had been going = past perfect continuous tense.

Now, to get back to the topic on hand, Classical Sanskrit does not have
separate verbs for the above four kinds of verbs. Continuous and perfect
actions are represented by the simple tense itself.

For example, all the above past actions are translated in exactly the same
way:

31EH ITddd qTARY 9399 |
& TTdd+d d1 28d |
P2 TTqad JI5 Al |

If you remember our very first few lessons: 3@ TF3TH is translated both as

"lam going" and " | go."
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g: ISl TS T8 Tiddar. | He studied with the boy who was sitting /

He studied with the boy who had been sitting / He studied with the boy
who sat./ He studied with the boy who had sat.

IHAAT: SRIRMET: A TAWST | Shyamala is the name of the writer who was
talking/ talked /who had been talking/ had talked.

Now let's have a look at something else:
| am talking to the girl who has spoken.

The 'has spoken" gives you the impression that the action has already been
completed EVEN though the word " has" is in the sentence. Therefore it is

translated as: ST&H IThadl dTfcseh! 92T |
g: Fie~ IS areadr . | He hit the boy who played.
g1 g edacdT: qMSHET: qd T8Il | She saw the face of the girl who laughed.

You can well imagine the forms the participle will take in the various
vibhaktis, numbers and genders.

However, Sanskrit does accommodate the past continuous tense with the
use of the Active Present Continuous Participles along with the Past tense

forms of the T YT | More about this later.

There is no need for exercises with this lesson. When we are through with
our study of participles, we can go over all of it at one go and translate an
entire story to see how they are all used. Please do go over the last three

lessons again though. Then do write to me if you find that the topic needs

re-teaching.
3k 3k 3k 3k sk sk %k %k %k k ok k
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Lesson 47. The study of Passive Past Participles.

Trust that you are now comfortable with the Active Past Participles. Shall
we do a quick recall?

I Tk TRl | | saw the boy.

(Please note that in this lesson, i plan to handle just the participles NOT the
verb forms...)

Now let's first see how the passive structure reads:

The boy was seen by me.

Here the 9d Icdd CANNOT be used . Its presence suggests the past tense
BUT in ACTIVE sentence constructions.

If you recall, we added the 9d 994 to the root past participle form...a list of
which is up in Supplement 37....to form the Active Past Participle. We use
the same root form but NOW add a visarga ORan 3TTHETOR a H_, to

denote M, F and N respectively.
The masculine forms will be declined in all the vibhaktis, and numbers as

THq

The feminine forms will be declined in all the vibhaktis, and numbers as
HlA1

The neuter forms will be declined in all the vibhaktis, and numbers as 9 |
To make it clearer....

ITd becomes 3Td:, ITdT, 3TdH_ |

<€ becomes €€: , €81, €8H_ |

THESE, then become the passive past participle forms.

So i would translate "The boy was seen by me" as dlh: HAT €8: |

Let's analyze this sentence a bit.

Recall: In a passive sentence, the object now falls into the 9&HIT fefes |
The subject falls into the Q?ﬁ'QT foIfE | The verb NOW follows the "object

turned subject." Here, the participle "see" now has to follow the "object
turned subject." ( The participle acts as a verb, does it not? So it MUST
follow the same rules the verb does.)

Our Active sentence would have given you a clue to what gender
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TVAA! is feminine. Now in our Passive construction, since the participle HAS
to follow the new subject, it becomes masculine and the sentence reads:
diAhl: HAT €8I | Please recall that our participles are like adjectives and

can be M, F or N.
Let's have a look at a few more sentences:

| wrote an article. 38 &% fSRaaadl / faRaaar |
An article was written by me. #31 oQ: fofaa: |
He wrote a story. &: &t fSRadaT |

A story was written by him. e e fRaar |

She wrote a poem. Tl FTeH fRaqET |

A poem was written by her. 91 Fed fSRadH |

What is the advantage in using the past passive participle?

Well, since the participle follows the subject, it doesn't matter who the
"actual" doer is..... that doer ALWAYS falls into the trutiya vibhakti and has
nothing to do with the participle or the verb. Let's look at another example,
this time using the verb form along with the participle to see how much
easier the participle usage is.

She ate a fruit. 91 RedH_ AWTad |

A fruit was eaten by her. 9T ®H 3TEd | Here we need to remember the
A.P. forms of the past tense . Why not a very simple: @91 %o @ﬂ%ﬁ"{?
1. He worshipped the Lord. &: ?{dl-Ldir::ldcllrL |
ha S [ay
The Lord was worshipped by him. dd qd: 3{Hd: |
2. She worshipped the Lord. €1 acll-Ldil'::ldclc'l\l |
. ha¥ (e
The Lord was worshipped by her. a1 qd: 3Hd: |
3. He worshipped the Devi. : 291 TIdE. |
The Devi was worshipped by him. a i‘qﬁ Afa |

4. She worshipped the Devi. |l é‘q”\qaﬁaa?ﬁ I
The Devi was worshipped by her. ddl aiﬁ faan |
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What happens to a sentence like : "The mother gave a book to the girl?"
Here is how you would make both Active and Passive sentences:

I A HE T+ I |
ST AT T: 9 | ONLY the PRINCIPAL object and subject jump

vibhaktis.....the participle naturally follows the "object turned subject" AND
the rest of the words in the sentence remain as they are.

From the dwitiya onwards, these past participles take on the form of simple
adjectives in active voice sentences. Here are a few examples...... see how i
have used the various tenses....
1. Itis written here.
I TARaaH 3R |
2. lwill place the cleaned vessels on the table.
32 TS AT TT=TUT SIS CAIRSATH |
3. The bloomed lotus was white.
foeh et FHS ™ ST, |
4. He gave the grain to the irritated brahmin.
9: FUAH AR 9+ gdTe, / 31834 |
The exercises will deal with converting the active into the passive. Lesson
47 C should help you see how the past participles in the rest of the
vibhaktis are used.
Honestly, with what we have done this month, it's been a giant leap

forward in our understanding of Sanskrit. Next month will be just as
enlightening.
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Lesson 47 A. Exercises with the Past Passive Participle.

Translate the sentences first( use the Active Past Participle....for further

practice, you may try this exercise using the verb forms as well) and THEN

convert them into the passive voice using the Past Passive Participle.
1. I remember the story.

Sheela sang a song.

Kishore saw the tree.

| received the news.

The students (M) understood the lessons.

The boys saw the movie.

The women cooked the meal.

The men washed the dishes.

. The people watched television.

10 The girls asked the teacher questions.

11.The wealthy man gave the beggar a bag.

The next few sentences, since we have no specific subject in the Active

sentences are best translated ONLY in the passive...you'll be surprised at

how simple these translations really are.

12.Understood? (my most favourite one-worder....my students hear it
all the time.)

13.Read the lesson?

14.Has the newspaper arrived?

15.Eaten your meal?

16.Seen this movie?

17.Has the bus gone?

18.1s the speech over?

19.1s the puja over?

20.1s the lesson over?

©®NOU A WN
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Lesson 47 B. Answers to Lesson 47 A.

1. Iremember the story.
M FYt TIaa / Tt |
The story was remembered by me.
AT /AT T |

2. Sheela sang a song.
3T Mt It |
A song was sung by Sheela.

FMSaT It I, |

3. Kishore saw the tree.
RN g81: T2 |
The tree was seen by Kishore.
RN J41: T8 |

4. |received the news.
37 9T e / S, |
The news was received by me.
T T ST |

5. The students (M) understood the lessons.
DET: T AT |
The lessons was understood by the students.
BT JI8T: AT | ( the participle follows the "object turned
subject" in number, gender and vibhakti.)

6. The boys saw the movie.
qSH: [9E Toawd: |
The movie was seen by the boys.
ok FEYE: T8 |
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7. The women cooked the meal.
Hfed: A Jhacd: |
The meal was cooked by the women.
ARSI AT+ 9RH. |

8. The men washed the dishes.
el qISAT Sefficseered: |
The dishes were washed by the men.
&S AT TETTfese |

9. The people watched television.
ST qReE Tea: |
Television was watched by the people.

S YR T |

10.The girls asked the teacher questions.
AT ST T2 gBa: |
Questions were asked by the girls to the teacher.
AT ST TAT: 9El: | ( the "principal" object becomes the
subject... the other objects in the sentence do not change.)

11.The wealthy man gave the beggar a bag.
e AFEHIE G TTa, |
The beggar was given a bag by the wealthy man.
felhe TM=RE &d: g1 |

12.Understood?
AMdH ?

13.Read the lesson?
q1&: qied: ?
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14.Has the newspaper arrived?

Y= NTAH. 2

15.Eaten your meal?
N 0y o ?
16.Seen this movie?

ay: 9 €8t ?

17.Has the bus gone?
QERIC R

18.1s the speech over?

HIYU{ §HEH ?

19.1s the puja over?
Q{1 GHTET ?

20.Is the lesson over?

qié: |HE: ?

% 3k %k 3k 3k %k 3k %k %k %k *k
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Summing Up Month 10.

By the end of Month 10, you would have achieved the following:
1. Learnt the d®I«d words..... you will be able to speak to and refer to

people with the respectful {41 and Yt |

2. Learnt how to use the Active Past Participle. You would have
recognized the simplicity of using these words instead of the Actual
Past tense verb forms.
3. Learnt the use of the Past Passive Participle. Again, you will recognize
how simple to use they are.
Next month will be our first few lessons in Sandhi. Trust you will enjoy
those.

www.chitrapurmath.net © Shri Chitrapur Math 2002-2017 Page 1312



